
DEBUT

A: Point de jonction
A

SORTIE Sortie
0 -> PORT  A

= Param_IRG B=32 A=223
A = 223

Géné_36khz
GENE_36KHZ

ENTREE Entrée
RECIR <- PORT  B

PAUSE Pause
10 ms

?

Non
Oui

= Param_IRD B=8 A=247
A = 247

Géné_36khz
GENE_36KHZ

ENTREE Entrée
RECIR <- PORT  B

PAUSE Pause
10 ms

?

Non
Oui

= RIEN_DEVANT
POS_IR = 0 = ADVaDROITE

POS_IR = 1

SORTIE MOTgauAV
9 -> PORT  A

Appel d'une Macro
BIP

Obstacle_DR?
RECIR=0?

= Param_IRD
A = 247

Géné_36khz
GENE_36KHZ

ENTREE Entrée
RECIR <- PORT  B

PAUSE Pause
10 ms

?

Non
Oui

= ADVaGAUCHE
POS_IR = 2

SORTIE MOTdrAV
6 -> PORT  A

= ADVenFACE
POS_IR = 3

SORTIE 2MOTAV
15 -> PORT  A

Obstacle_DR?
RECIR=0?

Appel d'une Macro
BIP

Appel d'une Macro
BIP

Obstacle_GA?
RECIR=0?

A Aller au point de jonctio...
A

FIN




